Question Paper Name:
Subject Name :
Creation Date:
Duration :

Number of Questions :
Total Marks :

Display Marks:

Group Number :

Group Id :

Group Maximum Duration :

Group Minimum Duration:
Show Attended Group?:
Edit Attended Group?:
Break time:

Group Marks :

Is this Group for Examiner?:

Section Id :
Section Number :

Section type :

Nnta

B TECH EB 25th Feb 2021 Shift 1
B TECH EB

2021-02-24 14:10:20

180

90

300

Yes

B TECH EB

1
708191192
0

180

No

No

300

No

Physics Section A

708191730
1

Online



Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Mandatory
20

20

80

Yes

1
7081911010

Yes

Question Number : 1 Question Id : 70819117854 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason K.

Assertion A : The escape velocities of p[anet A and B are same. But A and B are of unc-qua[

mass.

Reason R : The product of their mass and radius must be same. M;R; = M;R,

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

70819158711, Both A and R are correct and R is the correct explanation of A

70819158712 Both A and R are correct but R is NOT the correct r_-xplanation of A

70819158713. A is correct but R is not correct

70819158714.

A is not correct but R is correct

Question Number : 1 Question Id : 70819117854 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



forsa 4 fa9fen «alire 790 20k 984 A @32 WAL F1ad R

TG4 A : A @32 B 4024 THLE &A% W 58 A @2 B «F 7 e |

F1ae R : 212 463 TR OO ©F S APICE ROFCE W AN (MR, = M,R,) Z7A|
Options :

20819158711, * 4 R 422 0% @@ R 28 A ISCA[ A6S |

70819158712, L+ 9 R 733 7% 38 R, A I@@@ s amm 71

Ao 3 =
J0819158713, A THo% R EAI

70819158714, A 7 % R7F |

Question Number : 2 Question Id : 70819117855 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :

List - 1 List - 11
(a) h (Planck’s constant) (i) [MLT 1]
(b) E (kinetic energy) i MLETT
() V (electric potential) (iii) ML2T-3

(d) P (linear momentum) (ivy ML2I-1T-3]
Choose the correct answer from the options given below :

Options :

70819158715. (a) — (1), (b) — (ii), (¢) — (iv), (d) — (iii)

20819158716, (@ — (iil), (b) — (iv), (c) — (ii), (d) — (i)

20819158717, (@ — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819158718, (@) —= (i), (b) = (ii), (c) — (iv), (d) — (i)



Question Number : 2 Question Id : 70819117855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wifere! - 1 @@ A2 Siferet - 11 (=8|

wifert - 1 wiferel - 11
(a) h(d4=-9539F) (i) [MLT™]]
(b) L (sife=f&) (i) [ML2T-
(c) V (Fgre fT=a) (iii) [ML2T™?
(d) P (taf¥s =7cas) (iv) [MI21-1T-3
Options :

70819158715, (@) — (i), (b) — (ii), (c) — (iv), (d) — (iii)
20819158716, (@ — (i), (b) = (iv), (€) — (ii), (d) — (i)

70819158717. (a) — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819158718, (@) — (iii), (b) — (i), (c) — (iv), (d) — (i)

Question Number : 3 Question Id : 70819117856 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the time period of a two meter long simple pendulum is 2 s, the acceleration due to gravity
at the place where pendulum is executing S.H.M. is :

Options :

- o)
70819158719, 16 m/s

70819158720, T ms ?



70819158721, 9-8 ms™ =

") g
70819158722, 27 ms™ <

Question Number : 3 Question Id : 70819117856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T WS T GF5 2 m (HIEE T (aeiTe eTs G 798 (Hedd “aeE 2 s 7, 94 S e
Ty Fa0ed FIEFe W+ 203 ;

Options :

: 2
70819158719, 16 m/s

70819158720, T ms ?

70819158721, 9-8 ms™ =

3 )
70819158722, 2T ms =

Question Number : 4 Question Id : 70819117857 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A student is performing the experiment of resonance column. The diameter of the column
tube is 6 cm. The frequency of the tuning fork is 504 Hz. Speed of the sound at the given
temperature is 336 m/s. The zero of the metre scale coincides with the top end of the resonance
column tube. The reading of the water level in the column when the first resonance occurs
is :

Options:

70819158723, 0-0 cm

70819158724, 184 cm



70819158725, 148 cm

70819158726, 1> ¢m

Question Number : 4 Question Id : 70819117857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

GFE RE TY G T N AR G| 62 T AN 6 T | IR TS
504 Hz @2 0@ 3 oferael 336 m/s | Fb@ g = wal 3w wrem & aiea o e a9
(4 9% FA TH-9E (@ #00A T AT T FEA FTR AL S R A Tl 54
Options :
70819158723, 10-0 ¢m

70819158724, 184 cm

70819158725, 148 cm

70819158726, 1> €M

Question Number : 5 Question Id : 70819117858 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In an octagon ABCDEFGH of equal side, what is the sum of

e I I I T e
AB +AC + AD + AE + AF + AG + AH,

. — s A M
if, AO=2i+3 -4k

A B
H C
G D
F E
Options :
.f:-_ _/.: r} .-_,:.
70819158727, 101124 j+32k
70819158728, ~161 24 j+32k
70819158729, 16124 j+32k
. -‘: j- _/.:_ ':J ./T
70819158730, 101124732k

Question Number : 5 Question Id : 70819117858 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= o s o N 3
g

. " ) - P
foarpia «fi 5 wBys (Wa19) ABCDEFGH a0 AB + AC + AD + AE + AF + AG + AH

!

— A A A
T @AM AO=2i+3 j-dk = ?

Options :



70819158727, 107124 j+32k

70819158728, — 10124 j+32k

70819158729, 16124 j+32k

167 gy A‘_ 9 .
70819158730, 101124732k

Question Number : 6 Question Id : 70819117859 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B of masses 200 kg and 400 kg are rc-volvmg round the earth at hoight
of 600 km and 1600 km respectively.

If T_ﬁi and TB are the time pE‘.‘I‘if}dS of Aand B respectivel}-' then the value of TB—TA :

[ Given : radius of earth=6400 km, mass of earth=6x10* kg |
Options:
3
70819158731, 1:33x 107 s

] ; 3
70819158732, +24x 107 s

Wi
70819158733, +:24x 107 s

2
70819158734, S-33 %107 s



Question Number : 6 Question Id : 70819117859 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

200 kg €33 400 ke =37 7b TaZ A «@2 B #ff@7 v #{f4@ 9 2@ IS 600 km A8
1600 km THOrd 0T ST FAR| M T, A2 T, IUEH A ¢3¢ B Solaezn “”wae =, A
Tg—T, @ T %A :

(27@ #ffa @ AT = 6400 km, #l8RA T3 = 6x 10 k)

Options :

3
70819158731, 1:33x 107 s

A4 2 K
70819158732, +-24%10% s

)
70819158733, +:24x 107 s

2
70819158734, >-33 %107 s

Question Number : 7 Question Id : 70819117860 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A5 V battery is connected across the points X and Y. Assume D; and D, to be normal silicon
diodes. Find the current supplied by the battery if the +ve terminal of the battery is connected
to point X.

Dy 100
";..JI AN
D
% 510)
A 4'4"L",
X Y
Options :
70819158735, ~ U2 A
70819158736, ~ U043 A
70819158737, ~ 086 A
70819158738, ~ 12 A

Question Number : 7 Question Id : 70819117860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

aFh 5 VA X, Y 7 0w W @ 90 TWR| D, D, Mqwel e ©wane ww «ae i
IS o X @ IS A, A01E F63 208 4ATZA T4 59 7

Dy 100
L'“-“—J| AMN
D, .
50
Ilﬂ 47A%"
X Y

Options :

70819158735, U2 A



~043 A

70819158736.
70819158737, ~0-86 A
70819158738, ~ 12 A

Question Number : 8 Question Id : 70819117861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : A spood*. sigm[ of 2 kHz is used to modulate a carrier signal of 1 MHz. The
bandwidth requirement for the signal is 4 kHz.

Statement 1l : The side band frequencies are 1002 kHz and 998 kHz.

In the light of the above statements, choose the correct answer from the options given below :

Options :
708191587309. Both Statement | and Statement 1l are true

70819158740. Both Statement I and Statement 11 are false

70819158741, Statement 1 is true but Statement 1l is false

70819158742. Statement 1 is false but Statement 11 is true

Question Number : 8 Question Id : 70819117861 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



forsa b 7@war @aibee 7on =R faqfe 1 @ae werfee fagfe 11
fergfe 1: 2 KHz #1273 o9 Ao frd 1 MHz F#019730 9153 @15 egras o4 26| ¢ e
AMTaTea T %A 4 kHz |

fegfe 11 : omifeioa TN 20a @ 1002 kHz @32 998 kHz |
Terram R3S & Rraven 03 forsa o T o 0
Options:

20819158739, e 1«2 fRafe 11 Tewz s

faqfs ¢ fagfe 11 Tow2 o=
J0819158740, T30 L @ae fagfe 11 T w1

J0819158747, (T3S 1710w R fagfe 1w

el
J0g19158742, 0TS 197 R fegfe 11w

Question Number : 9 Question Id : 70819117862 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : When a rod lying freely is heated, no thermal stress is developed in it.
Reason R : On heating, the length of the rod increases.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819158743, Both A and R are true and R is the correct explanation of A

70819158744, Both A and R are true but R is NOT the correct explanation of A
70819158745. A is true but R is false

70819158746, ‘» 18 false but Ris true



Question Number : 9 Question Id : 70819117862 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

forsa 4t Ieam «fors 9om =k f3fe A @e weEfbeE #@e R

fagfe A : 1o w@gm a1 @36 TCCT O AT FAA GF TG (FHES WA AT Terf = N
&19¢ R : O1% #WTW FACH A0GA (T ATRe W05 |

Options :

20819158743, A 93¢ R TOWE ATF @2 R 77 A &3 5 T |

20819158744, A T3 RTSR 70T f#8 R, A @ How amm 1|

70819158745, AT0% 7 R & By |

70819158746, AT T8 R0

Question Number : 10 Question Id : 70819117863 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The current (1) at time t=0 and t= = respectively for the given circuit is :

5 () 50
al
110 410
 — LI LI
L
Options:
I18E S5E
55 " 18

70819158747.



5E 18E
70819158748, 18 55

106 SE

70819158749, °o 18

'5E 10E

70819158750, 18 33

Question Number : 10 Question Id : 70819117863 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g FoARPICE (=0 @3¢ 1= o0 FWCH T2 TR (i) T FS 203 ?
50 50

Options :
18E 5E
70819158747, 22 18
5E 18E

70819158748, 18 55

106 SE

70819158749, -5 18

'5E 10E

70819158750, 18 33



Question Number : 11 Question Id : 70819117864 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pitch of the screw gauge is 1 mm and there are 100 divisions on the circular scale. When
nothing is put in between the jaws, the zero of the circular scale lies 8 divisions below the
reference line. When a wire is placed between the jaws, the first linear scale division is clearly
visible while 72" division on circular scale coincides with the reference line. The radius of
the wire is :

Options :
70819158751. 1.64 mm
70819158752, -0 mm

70819158753, U-82 mm

70819158754, 180 mm

Question Number : 11 Question Id : 70819117864 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

aFh F-TEA F 6 1 mm @3 SEFFE TFACE 100 T T4 T4 TR F@ N A SAGH TR
g Y -1 e fra Jerem rEeea W wiel TS em 8 ¥ T 4| «@a we o
T WA (AN TFTER @ WMo ARET Y AW @2 IR TFEE 0 72 W | ORI
o4 .

Options :

70819158751, 1-64 mm

70819158752, U-90 mm

70819158753, U-82 mm

70819158754, 180 mm



Question Number : 12 Question Id : 70819117865 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An a particle and a proton are accelerated from rest by a potential difference of 200 V. After
ﬁp
tMmﬂmﬂde&nﬁhwmmbgmsmeMﬁmdﬁgmpxmm@JMOMEOI—E:
iy

Options :
70819158755, 2.8

70819158756.

=1
oo

70819158757.

70819158758, -8

Question Number : 12 Question Id : 70819117865 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

93 -3 €32 GF0H TAHTF 33 ML 200 V 52 1w ofHe a1 791 3% «rm w-3eeE

B

CIRCTE I N, R\, W, T4

ﬁﬂﬁrﬂﬂﬂﬂﬁTﬁTﬂﬁ:

i
Options :
70819158755, 2.8

70819158756, °©

70819158757, /-8



70819158758. 3.8

Question Number : 13 Question Id : 70819117866 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two coherent Iight sOurces having intensity in the ratio 2x producr_- an interference pattern.

The ratip —M% M0 0] be :
max | min
Options :

70819158759, 2% +1

70819158760, 2% 11

A 2x

70819158761, * 11

e
J2x

70819158762, * 11

]

Question Number : 13 Question Id : 70819117866 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

' = > - i | L
Eﬁ'ﬂ’*’l?"ﬁl@iﬂi:ﬂ @ﬁtﬂﬂ@ﬁ??ﬂqﬁjxm_wqﬁ 30 ATO5E AT 510+ F7g (g _nax___min

max i Imin

g9 I 29
Options :
2
2x+1
70819158759.




70819158760.

70819158761, * 11

70819158762, * 11

Question Number : 14 Question Id : 70819117867 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An engine of a train, moving with uniform acceleration, passes the signal-post with velocity
u and the last compartment with velocity v . The velocity with which middle point of the
train passes the signal post is :
Options :
u+uv

70819158763, 2

70819158764, 2
II’2 | H:
V"2
70819158765, ' 2
[o? — 32
V2
70819158766 ' 2

Question Number : 14 Question Id : 70819117867 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TR T AR G R 24T GFH TS T o Merars e F0a @32 §ha R I
3 (A v SETarel Sow 03| [Rwba TR PG @ SErare TAED Sed 903 OF T ;

Options :
u+o

70819158763, 2

70819158764, 2

|
70819158765. \

(0% —u

70819158766.v :

Question Number : 15 Question Id : 70819117868 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton, a deuteron and an « particle are moving with same momentum in a uniform
magnetic field. The ratio of magnetic forces acting on them is _ _ and their speed is
, in the ratio.

Options :

70819158767. 421 and 211

2
=

:1and 4 :

-2
=i

70819158768.

2

70819158769. 1:2:4and1:1:

T
70819158770, Li2:4and2:1:1



Question Number : 15 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819117868 Question Type : MCQ Option Shuffling : Yes

G T, G O A2 G o-F 2 TAA T @ 7 The vwea ofefE ) Saea
To@ TR (e A AT G2 STA SITSTaTsTa SPiTe 2(a FLTE ;

Options :

(]

4:2:14d982:1:1

70819158767.

]

70819158768, = 1+ 1@t 4:

1:2:4¢9%1:1:

I

708191587609.

wi s o 2.1 -
70819158770. PRSI A R

Question Number : 16 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819117869 Question Type : MCQ Option Shuffling : Yes

Magnetic fields at two points on the axis of a circular coil at a distance of 0.05 m and 0.2 m
from the centre are in the ratio 8 : 1. The radiusof coilis .

Options:

70819158771, 01 m

70819158772, V1o m

70819158773, U-2m

70819158774, 10 m

Question Number : 16 Question Id

: 70819117869 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aFh T8 oA oF 7T DA [P TF .05 m @2 .2 m A TW B TRIE T
8 1 1, FeATsa AN

Options :
70819158771, 01 m
70819158772, V1o m

70819158773, V-2 m

70819158774, 10 m

Question Number : 17 Question Id : 70819117870 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angular frequency of alternating current in a L-C-R circuit is 100 rad/s. The components
connected are shown in the figure. Find the value of inductance of the coil and capacity of
condenser.

R=601()
—AAMAMANA
19:¥
r: {
c=—qy X401 Lg20V
o1
Options :

70819158775, 133 H and 250 uF
70819158776. 1.33 H and 150 pF

70819158777. 0.8 H and 150 pF



. ) ;
70819158778, -8 H and 250 uF

Question Number : 17 Question Id : 70819117870 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¢35 LCR 7$a7 «fR8 #amaa tH1o% 9103 T4 100 rad /s | Fewy Téare ffen 1w fRrasm
779 B9 FATATE SILATE @ Y03 Y9905 e 204 TN

R=600

———— AR
15V

c——py R0 [ 9y
o1
Options :

! LI = .
70819158775, 153 H a8 250 uk

70819158776, 1-33 H @32 150 uf

20819158777, -8 H @@ 150 uk

' g 7B .
70819158778, -8 H ¢ 250 ul

Question Number : 18 Question Id : 70819117871 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A diatomic gas, having Cp =§R and Cy =§R, is heated at constant pressure. The ratio
dU:dQ:dW: ) )

Options :

70819158779, 2:7:2



|
-2

-
70819158780.

70819158781, -

.,
()

70819158782, 2 : 7

Question Number : 18 Question Id : 70819117871 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e P . .

Cp=5R @@z Cy=-R 8 @3l Frro@ ST 293 B0 @191 ol 30 28| dU < dQ < dW
LERIZE

Options :

70819158779, 2:7:2

70819158780.

70819158781, -

~]
%

70819158782, 2:

Question Number : 19 Question Id : 70819117872 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two radioactive substances X and Y originally have l\]l and N2 nuclei respectively. Half life
of X is half of the half life of Y. After three half lives of Y, number of nuclei of both are equal.

The ratio % will be equal to :

Options :

70819158783.



70819158784.

70819158785.

1
70819158786. B

Question Number : 19 Question Id : 70819117872 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

b TOEY e X €@ Y ¢ 2l e (e A TWEE N, ¢@e N, | X «@ 9y Y ¢

SRR WHF | Y @ Fls W wieang 799 o X @32 Y @4 TEed AL AW 24 | % 3
2

PICEEISN

Options :

»—-|_...1

70819158783.

70819158784.

70819158785.

70819158786. B

Question Number : 20 Question Id : 70819117873 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid sphere of radius R gravitaﬁona[l}-' attracts a particle placr_-d al 3R from its centre with

R
a force F,. Now a spherical cavity of radius | = | is made in the sphere (as shown in figure)
] 3]

and the force becomes Fz- The value of Fl . l"'2 is :

Options :
70819158787, 1150
70819158788, 0 * 41

70819158789, 26: 2

70819158790, = © 0

Question Number : 20 Question Id : 70819117873 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



R AICda @3 Forcas TSI 403 3R A O3 9T T AT Wieaa o @ F | T

. L (R) .
farpa .H@Wﬁﬁ@ﬁ@tﬂ'ﬂmmﬂﬁ_IEJWWW‘FWEWE@?WEI

TSI 9% T &R 9T A F, T, F, : F, @I :

Options :

70819158787, 1120

70819158788, 20 * 41

70819158789, 26 : 25

70819158790, = 0

Physics Section B
Section Id : 708191731
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 7081911011



Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819117874 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A monoatomic gas of mass 4.0 u is kept in an insulated container. Container is moving with
velocity 30 m/s. If container is suddenly stopped then change in temperature of the gas

X
e . O [y
(R=gas constant) is R Value of xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819117874 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
4y A TR GF) GF-RAT INE I TGE A A T | @2 @D 30 m/ s T SeRE |

A 2I8 ACA et ST DeRam e 23 %1{ A R=7 &3¢| x @@ T9 24
|

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819117875 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



512 identical drops of mercury are charged to a potential of 2 V each. The drops are joined to
form a single drop. The potential of this dropis V.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819117875 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

512 wifen @R Areres 2 V e wifee o0 28| am wafrs fikig <3 @ e e
A TOm ofte et oz v

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819117876 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A coll of inductance 2 H having negligible resistance is connected to a source of supply
whose voltage is given by V=3t volt. (where t is in second). If the voltage is applied when
t=0, then the energy stored in the coil after4sis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819117876 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2 H e % ¢ Trersay TN ¢3h FEFATE L=0 T I V=31 V T MY WS
39 37 (TR | TIPS TheT OIE) | =4 7Gd @3 Feare Ade sfea s ||

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819117877 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A small bob tied at one end of a thin string of length 1 m is describing a vertical circle so that
the maximum and minimum tension in the string are in the ratio 5 : 1. The velocity of the bob
at the highest positionis ____ m/s. (Take g=10 m/ 53)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819117877 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



43 1 m 79 T8 [0 F 4% T (00 WA AR R THD HNTE AT T R TA oA
TERA #2 TIRA Z6 | q relilhee WA €8 AR GIea Sere 5 : 1 3, S0 7w e
WELAT@  m/s | [9=10 m/s? 4%

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819117878 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The potential energy (U) of a diatomic molecule is a function dependent on r (interatomic
distance) as

] B 3
105

where, a and p are positive constants. The equilibrium distance between two atoms will be

d

o
Zi |b
(— , Where a=
/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819117878 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819117879 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
LY

— ( k) A » i
The electric field in aregionis given by E = | —Eji+=Egj ol The ratio of flux of reported
] o )

field through the rectangular surface of area 0.2 m? (parallel to y—z plane) to that of the
surface of area 0.3 m?2 (parallel to x—z plane) is a:b, wherea=___

[Here ; ] I and L are unit vectors along x, y and z-axes respectively|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819117879 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819117880 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transmiltting station releases waves of wavelength 960 m. A capacitor of 2.56 uF is used in
the resonant circuit. The self inductance of coil necessary for resonance is

__________ x10~8 H.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819117880 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

OF GERDE FEE AT G TR 960 m| TATH ST SR A6 979 YA
qAFG 2.56 1F | OF 93 TGS T996 UTANEFI AL FAF T x 1078 H

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819117881 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The same size images are formed by a convex lens when the object is placed at 20 cm or at
10 cm from the lens. The focal length of convexlensis ___ cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819117881 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
7% 79 20 T 9@ 10 T A0 G T8 6 S WA AT o0 A | 6% TwH Eva
FEA AT cml

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 29 Question Id : 70819117882 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a certain thermodynamical process, the pressure of a gas depends on its volume as kV3,
The work done when the temperature changes from 100°C to 300°C willbe _____nR,
where n denotes number of moles of a gas.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819117882 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A8 GFfs THET A Ea ST 5e O wEerE WY k3 WP f4aee 31 @eEn 100°C
T 300°C #f3 I% F903 FoREATA _ nR | TR n G5 MW (7 74|

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819117883 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In the given circuit of potentiometer, the potential difference E across AB (10 m length) is
larger than E, and E, as well. For key K| (closed), the jockey is adjusted to touch the wire at
point ], so that there is no deflection in the galvanometer. Now the first battery (E,) is replaced
by second battery (E,) for working by making K, open and K, closed. The galvanometer

’ L E; , a
gives then null deflection at ]2. The value of L—l is E , where a=
2

|| £ G
=/ '
I'E, ~ 7K,
| E
oK A |
«2em— ], I
A
£— I i
I
I
Rh J,¢—60 cm—}l :
, J—— »
B"{ Im 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819117883 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191732
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20



Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911012
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819117884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The plots of radial distribution functions for various orbitals of hydrogen atom against “r’ are
given below :

The correct plot for 3s orbital is :
Options :
70819158801, (&)

70819158802, (P)

70819158803, (©)



70819158804, (D)

Question Number : 31 Question Id : 70819117884 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y & TS Teges *AIgA ffen T WA A SRS I TAa i TR 7

35 FHFA 0P (ol ;
Options :



70819158801, (A)
70819158802, (P)
70819158803.

70819158804.

Question Number : 32 Question Id : 70819117885 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

According to molecular orbital theory, the species among the following that does not exist is :

Options:

Oy”
70819158805.

70819158806, | 12

70819158807, D2

i |L'2
70819158808.

Question Number : 32 Question Id : 70819117885 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
oS THG (AP WaaeT=) ©F P Feea (Aha ey 7ed 77 ;

Options :

5
70819158805.



70819158806, | 1c2

70819158807, P°2

He,
70819158808.

Question Number : 33 Question Id : 70819117886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of AgCN in a buffer solution of pH=3 is x. The value of x is :
[Assume : No cyano complex is formed ; KHP(AgCN] =22x10"10 and K (HCN) =6.2x 10~ 1]
Options :

70819158809, 0-625x10°°

70819158810, 1-6%107°

70819158811, 2-2x 10710

5
70819158812, 1-9 % 10

Question Number : 33 Question Id : 70819117886 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

pH=3 3@ @35 I T3 AgCN «¢F T3qe] | x &7 T
[4T3 A8, THICN ARG Gioa cqal codl Zqf |
[K,,(AgCN) =22 x10~ !¢ @32 K (HCN)=6.2 x 10~ 0]

sp
Options :

70819158809, 0-625x10°°



B 6
70819158810, 1-6 %10

70819158811, 2-2x 10710

\ 5
70819158812, 1-9 %10

Question Number : 34 Question Id : 70819117887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm at moderate pressure, the extent of adsorption ll
n

15

directly proportional to P*. The value of x is :
Options:

70819158813. 1

70819158814, “¢T°

70819158815.

70819158816.

Question Number : 34 Question Id : 70819117887 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR Be T Simamae e Ta4 PY @7 WH SiemEd T 'L] FARPTE | x ¢ T

i/
Options :

70819158813. 1



70819158814, =1

70819158815.

3

70819158816.

Question Number : 35 Question Id : 70819117888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ellingham diagram is a graphical representation of :
Options :

70819158817, AGvs T

70819158818, AH vs T

70819158819, AG vs P

70819158820.

Question Number : 35 Question Id : 70819117888 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
afEregma foa oo +a

Options :

70819158817, AG T T

70819158818, AH T T



70819158819, AG T P

70819158820, (AG ~ TAS) TR T

Question Number : 36 Question Id : 70819117889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following equation depicts the oxidizing nature of H,O, ?
Options :
70819158821. KIO, + H,O, — KIO, +H,0 + 0,

A ¥ ~
70819158822, 127 H20; +20H™ — 27 +2H,0 40,

t
70819158823, 2 THO,+2HT — 1, +2H,0

= 2
70819158824, “l2t H20, = 2ZHCA+O,

Question Number : 36 Question Id : 70819117889 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
oA FAAFATTCEA TR HyO, 8 Sa9 #Fhe Foie 3 7

Options :
70819158821, KIOs + Hy0, — KIO; +H,0+ 0,

A ¥ ~
70819158822, HiF T B RAEL “PaT ETEREAE LY

¥
70819158823, 2 tHxO, +2H" — 1, +2H,0



= 2
70819158824, “l2t H20, = 2HCA+ O,

Question Number : 37 Question Id : 70819117890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statement about B;Hy is :

Options :

70819158825, All B—H—B angles are of 120",

70819158826 The two B—H—B bonds are not of same length.

70819158827, lerminal B—H bonds have less p-character when compared to bridging bonds.

70819158828. Its fragment, BH, , behaves as a Lewis base.

Question Number : 37 Question Id : 70819117890 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B,H, fraca s 7gfe ==
Options :

20819158825, ™8 B—H—B & I AW 120° |

70819158826, 5 B—H— B I&=a (wel] e =7 |

20819158877, CTEIR! THAIA TCA AGF B— H (Giferen) swetra p-sfaar 1

A 41 T Gl A I S5a e
70819158828, Af&e 791, BH,, A2 FCFa A |



Question Number : 38 Question Id : 70819117891 Question Type : MCQ Option Shuffling

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I~ :  CeO, can be used for oxidation of aldehydes and ketones.
Statement 1 : Aqueous solution of EuSO, is a strong reducing agent.

In the light of the above statements, choose the correct answer from the options given below :

Options:

70819158829, DBoth Statement I and Statement 1I are true

70819158830. Both Statement I and Statement Il are false

70819158831 Statement | is true but Statement 1l is false

70819158832. Statement 1 is false but Statement Il is true

Question Number : 38 Question Id : 70819117891 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

<Tes 16 fagfe trem =rae

fafe1: wr=fteRe ¢ fFbm w@em &1 CeO, T72 F41 TS ATA |
faafe 11 EuSO, wa w5 w31 @3 S e =

Teiraa fagfen fefare T tare e wiie Taa tare Me|

Options :
70819158820, 9@ (1) ¢ fgfe (1) Tew g

20819158830, [31e (1) €32 Rfe (11) Tewa g

70819158831, <91e (1) Frga & fagfs (1) w11

70819158832, [<31@ (1) ¥4 7= fagfe (1) Frgn

:Yes

Yes



Question Number : 39 Question Id : 70819117892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following pairs, the outer most electronic configuration will be the same ?
Options:

70819158833, V' and Cr*

70819158834, Cr* and Mn*"

70819158835, Ni*" and Cu’

1.2+ ~_ 4
70819158836, Fe”  and Co

Question Number : 39 Question Id : 70819117892 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oA TR THLE FAA2E FCHa 2CADG (<GP I ?
Options :

70819158833, V2" @3¢ Cr*

70819158834, Cr' @@t Mn?"

70819158835, Ni** @at Cu*

) &
70819158836, Fe~ " «@t Co”



Question Number : 40 Question Id : 70819117893 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The hybridization and magnetic nature of [Mn(C Njﬁ]4 and [ITQ{'CI“\]){-]]3 , respectively are :
Options :

20819158837, @-sp” and paramagnetic

70819158838 sp’d® and diamagnetic

70819158839 d*sp” and diamagnetic

352 s :
70819158840, 5P ¢~ and paramagnetic

Question Number : 40 Question Id : 70819117893 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
[Mn(CN)J*~ @@2 [Fe(CN) P~ @ WeTamd € hI5s 4Fhs FAEHH ¢

Options :

2 o3 o — -
20819158837, A25p> @3¢ *RFTEE (TRTHTALF)

70819158838, 5P 4% AL SAFTE (THAISTALSE)
2 3 @ T -
70819158839, A 5P° TR AT

342 @ 3
70819158840, SP 2 €2 TP

Question Number : 41 Question Id : 70819117894 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  An allotrope of oxygen is an important intermediate in the formation of
reducing smog.

Statement 11 :  Gases such as oxides of nitrogen and sulphur present in troposphere
contribute to the formation of photochemical smog.

In the light of the above statements, choose the correct answer from the options given below :

Options:

70819158841, Both Statement I and Statement 11 are true

70819158842, Both Statement | and Statement 1l are false

70819158843, Statement 1 is true but Statement 11 is false

70819158844. Statement 1 is false but Statement 1l is true

Question Number : 41 Question Id : 70819117894 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s b fgfe TRea 20 ;

fegfe 1:  Fmmerddl T oot SRTetm @3t 35w SrEaras el «wme|
T 4107 Wi 4% A

Eeorram e Tefere T 1ate e 3 Teah arg w1e |

Options:

70819158841, <91e (1) @3¢ fagfe (1) Tewre frgat
270819158842, (4@ (1) @3¢ fegfe (1) Tera? w=
70819158843, <91e (1) frg= frm fsfe (1) g1

20819158844, 1 () ¥ e T (1) Frgmn



Question Number : 42 Question Id : 70819117895 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete combustion of 180 g of an oxygen containing compound (C,H,0,) gave 2.64 g of
CO, and 1.08 g of H,O. The percentage of oxygen in the organic compound is :

Options:

70819158845, 20-33
70819158846, 53.33
70819158847, 63.53

70819158848, 21.63

Question Number : 42 Question Id : 70819117895 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1.80 g «#fi Sf¥Eg® T (C,H,0,) 1 72 264 g CO, @2 1.08 g H,0 Beofm 2|
(5 TS SRR e AR :

Options:
70819158845, 2033
70819158846, 53.33

70819158847, ©3.53

70819158848, 21.63



Question Number : 43 Question Id : 70819117896 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[dentify A in the given chemical reaction.

/CH3
B Mo,O o
2 CH, 203 - A
L - ~ 7 773K, 10-20 atm major product
113
\\“CHZ/ M\‘CH;
Options :

70819158849.

70819158850.

q
o
S

70819158852.

Question Number : 43 Question Id : 70819117896 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ofva It At A s =
_~CH,
H Mo, O
CH» CH. pA) _ = ’_ﬁ.'
77 773K, 10-20 IRAGER B (57 Bewwag)
CH, /,C.H\\ ;
\“ETHE CHj



Options :

70819158849.

70819158850.

70819158851.

CH;

SRR

70819158852.

Question Number : 44 Question Id : 70819117897 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identif}-' A and B in the chemical reaction.

i L]
O o LY
(major) dry acetone (major)
NO,

Options :

OCHj I

Cl ]
r""L = H =

I NO

70819158853, NO, =

70819158854,



OCHj OCH,4

Cl i
A= B =
NO, NO,
OCH; ]
A = B —
Cl Cl
NO, NO,
70819158855. °
OCHj, OCHj;
Cl
J""'h - B ==
|
70819158856. ek N2

Question Number : 44 Question Id : 70819117897 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A RfFHre A «ag B e #4)
OCH,
HCl Nal
——— [A] > [B]
Q (1) W S (20)
NO,
Options :
OCH,4 I
Cl ]
a"*'l. = H =

. NO
70819158853. NO, 2



OCH; OCHj

Cl I
A= B =
NO, NO,
70819158854
OCH,4 1
A= B =
Cl €l
NO, NO,
70819158855. ‘
OCH,4 OCHj,
i)
;'A'L = B =
Cl
70819158856. Y 52

Question Number : 45 Question Id : 70819117898 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major product of the following chemical reaction is :

1) H;O+, A
_ 2) SOCI,
CH3CH,CN > 7
3) Pd/BaSOy, H,

Options:

70819158857. e

70819158858, (CHCH,C0O),0

70819158859. S e e



70819158860, 1 3CHCHO

Question Number : 45 Question Id : 70819117898 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
iea At AfEaE 32 Sesmya ¢

1) H,0+, A
2) SOCl,
CH3CH,CN > 2
i 3) Pd/BaSO,, H,

Options :

70819158857. S

70819158858, (CHCH,C0),0

70819158859, HaCH2CH3

CH,CH,CHO

70819158860.

Question Number : 46 Question Id : 70819117899 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following reactions will not form acetaldehyde 7
Options :

Pd(11)/ Cu(II)

CHy,—CH-+0O
2 2 2 H:D

70819158861.

: CrDE._IIZSD-:}
CH,CH,OH >

70819158862.



i) DIBAL-H
CH;3CN — >
it) H,O

70819158863.

Cu
70819158864. >3k

Question Number : 46 Question Id : 70819117899 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
Pd(II) / Cu(ll
CHEZCHE"I-DE { :If { :I
70819158861, H0
i CTDB—IIESD;}
CH,CH,OH -
70819158862.
i) DIBAL-H
CH,CN — — >
70819158863. i) Hy
Cu
70819158864, 2

Question Number : 47 Question Id : 70819117900 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Compound(s) which will liberate carbon dioxide with sodium bicarbonate solution is/are :

NES COOH OH
NO, NO,
A= B= B
NH, NH,
OH NO,
Options :
70819158865, -+ and B only
70819158866, = O™
70819158867, © 2nd C only

70819158868, B only

Question Number : 47 Question Id : 70819117900 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T TN /TNEPTE. TGN FECD T IR TR-SHIG (o T3 ?

NH, COOH OH
NO,
A o
NH, NH,
Options :
70819158865, ‘* 9 B

70819158866, =d7& C

70819158867, B 9



70819158868, —av< B

Question Number : 48 Question Id : 70819117901 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction/s will not give p-aminoazobenzene ?

NO,
P i) Sn/HCI
i) HINO,
iii) Aniline
NO,
5 i) NaBH,
B ii) NaOH
iii) Aniline
NH,
- i) HNO,
) ii) Aniline, HCI
Options :

70819158869, “* only

70819158870, = MY

B only
70819158871. g

70819158872, A and B

Question Number : 48 Question Id : 70819117901 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Tieea Tt pemfcarenaafes tefa Faea a2

NO,
Ao i) Sn/HCI
if) HNO,
iii) S
NO,
5 i) NaBH,
ii) NaOH
iii) Sriele
NH,
= i) HNO,
e P e -
ii) S, HCl
Options :

70819158869, —ane A

-

70819158870, a4 C
70819158871, —av< B

70819158872, A 9 B

Question Number : 49 Question Id : 70819117902 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which statement is correct ?

Options :

70819158873, Buna-N is a natural polymer.

70819158874. Buna-Sis a synthefic and linear ﬂ'uernmsetting pnl}-'mr_-r.

70819158875, Neoprene is an addition copolymer used in plastic bucket manufacturing.



70819158876, Synthesis of Buna-S needs nascent oxygen.

Question Number : 49 Question Id : 70819117902 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L FrgA [4ghs 7
Options :

70819158873, IT-N @il 2rfes wffemra |
20819158874, TT-S <G ARTHAF a2 LalF S (Arafcifbe) =«
70819158875, AT &G TR F2-~ferae 41 235 reifs (ofars aree 24

70819158876, F-S FCHALT TR T AEE |

Question Number : 50 Question Id : 70819117903 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the glycosidic linkage between galactose and glucose is present in lactose ?
Options :

70819158877, -1 of galactose and C-4 of glucose

70819158878. C-1 of galactose and C-6 of glucose

70819158879. C-1 of glucose and C-4 of galactose

70819158880. C-1 of glucose and C-6 of galactose



Question Number : 50 Question Id : 70819117903 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FCFCEA T MEANIG 8 YLFCTA L I AFIN2G Tl ACACR 7
Options :

70819158877, "ML C-1 €[ FLFLEd C-4

70819158878, Mmencaied C-1 @3¢ qTFTE C-6

70819158870, INEHERT.CoL NI SINCH NS )
70819158880, F°H0 C-1 O SURACHCAT C-6

Chemistry Section B
Section Id : 708191733
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911013
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819117904 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



N
0.4 g mixture of NaOH, Na,CO, and some inert impurities was first titrated with 10 HCl

using phenolphthalein as an indicator, 17.5 mL of HCl was required at the end point. After
this methyl orange was added and titrated. 1.5 mL of same HCI was required for the next
end point. The weight percentage of Na,CO, in the mixture is . (Rounded-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819117904 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A Sefgiere R it 72 04 g NaOH @ Na,CO, ¢7 ¢#fi fmd aifite Fare
175 mL HCI =l | 93+ e faenss sag el 21 20«38 e opm 7 178 @@ HCl

TR 1.5 mL A | R Na,CO, &7 98t e #fasrl
vE)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819117905 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A car tyre is filled with nitrogen gas at 35 psi at 27°C. It will burst if pressure exceeds 40 psi.
The temperature in °C at which the car tyre will burstis . (Rounded-off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819117905 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

35 psi «@2 27°C-4 @b 51fa BraCa ECHEH A 6 AR | AW 51ef 40 psi @& T3 T oA
T T7A | TS °C P S1ea b T G 24

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819117906 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of cyanamide, NH,CN, with oxygen was run in a bomb calorimeter and AU
was found to be —742.24 k] mol 1_%“} magnitude of AH,gq for the reaction

8 3 ’ :

is ______ kJ. (Rounded off to the nearest integer)

[Assume ideal gases and R=8.314 ] mol "1 K 1]

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819117906 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 ARG 2N FRTIZS, NH,CN, ) ¢ 773 SifSem fafem 298 K oo NH,CN
@3 AU &3 T #19q1 758 —742.24 k] mol 1|

(s)

poo o K

NHyCNg %”2{51 Nog) + Opg + HyOy); afimmiia AH, g (k]) €@ T4 _
(Fraen #efieama ©a) [403 8 STl Sl 4 €2 R=8.314 J mol ~1 K~ ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819117907 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 molal aqueous solution of an electrolyte A3B3 is 60% ionised. The boiling point of the solution
atlatmis K (Rounded-off to the nearest integer)

[Given K, for (H,0)=0.52 K kg mol ']
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819117907 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4 TR T T Gl SUeRTEm A,B, 60% RIS | @ TN STLe e HTA BT
THE K (frben g Ta)
[rem e Ky, (H,0)=0.52 K kg mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819117908 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
[n basic medium CrO 42 oxidises 92{}32 to form SO 42 and itself changes into Cr(OH)4 ™ -

The volume of 0.154 M Cr[}f required to react with 40 mL of 0.25 M 52{']32 is

_mL. (Rounded-off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 55 Question Id : 70819117908 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

.uof HAFE T4 '52{)32 3 T '5()42 Teom I3 ¢ fors 'gr{m )y~ @ “fffee

1 40mLof 0.25 M §,0,2 <@ 7% R 3 0154 M (10,2~ & T3 SIS (ml) 20ATSH
_mL| (Fhe e Te)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819117909 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1
For the reaction, @A +bB — cC+dD, the plot of log k vs T is given below :

T slope =—10000 K
logk
'l/r —
The temperature at which the rate constant of the reaction is 10 el . ] K.

(Rounded-off to the nearest integer)

[Given : The rate constant of the reaction is 107> s ! at 500 K]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 56 Question Id : 70819117909 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o Sy
aA +bB — cC +dD faf & log k ¥ T Tafoa s e 7|

I E=—10000 K

logk
1o —
fafem ofs grFa WA 104~ 1o A wsma K | (Freebes oieama Tem)

[TweR w1, 500 K @iy fafea ofe garaa 791055
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819117910 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The ionization enthalpy of Na* formation from Na,, is 495.8 k] mol I while
the electron gain enthalpy of Br is —325.0 k] mol I"Given the lattice enthalpy
of NaBr is —728.4 k] mol 1. The energy for the formation of NaBr ionic solid is
) (TR || lk] mol 1,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 57 Question Id : 70819117910 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Nay,) 793 Na* SPTATA S T 495.8 k] mol ~ ! TR Br @A WA 9% A T
325.0 k] mol~ 1| NaBr &R & (W) &t Tre 3@ — 728.4 k] mol =11 NaBr ¢
AT Fio T oo W@ AfEwd (<) x 107 kJmol 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819117911 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, the number of halide(s) which is/ are inert to hydrolysisis
(A) BF, (B) SiCl, (C) PCl; (D) SF,
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819117911 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Tirva Sferem STEfETame Trr o @u s Tqe/TRIRIEa AeAm |

(A) BF; (B) SiCly (C) Pl (D) SFg
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819117912 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider the following chemical reaction.

CH=CH 1) Red hot Fe tube, 873 K ek
= = | TOduc
' 1 72)Co, HA, AlCT, ‘

The number of spz hybridized carbon atom(s) present in the productis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819117912 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Tsa aerate fafEats frasT =9

reen_paion 3 MRS ©F AR, 873K _ o o
— 7 2)CO,HC, AlCl, =

TATGC sp? ATHANTS T ofqaa Aeam
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819117913 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Using the provided information in the following paper chromatogram :

A =]
=Solvent front
Be A
2cm
5cm
Ae : 4
2cm
T [PURN— v
/ -
4 % Base line
Spot

Fig : Paper chromatography for compounds A and B.

the calculated Rir value of A %1071,

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819117913 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



ATE THAE THFEHIAE T 19214 T4 |

Be

GAHA GERAT %

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A

Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191734
5

Online
Mandatory
20

20

80

Yes

1
7081911014

Yes



Question Number : 61 Question Id : 70819117914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Letf, ¢ :N — Nsuch that f(n+1)=f(n) + f(1) V neN and g be any arbitrary function. Which

of the following statements is NOT true ?
Options :
70819158891 If fis onto, then f(n)=n v neN

70819158892, [1s one-one

70819158893, If ¢ is onto, then fog is one-one

70819158894, If fog is one-one, then g is one-one

Question Number : 61 Question Id : 70819117914 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4R f g : N — N, T fin + 1) =f(n) + f(1) ¥ neN &2 g T T3 (&> SRS, G07 T T3
faqfeft P =3 =1 7
Options :

70819158891. it oG 24, @ f(n) =n ¥ neN

70819158892, /& GF-=

70819158893, & y B fog %

70819158894. 3kt fog T GF-GF A g TA G- 6T



Question Number : 62 Question Id : 70819117915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Lotmclmeﬂz -ﬂ2={2+-ﬂfand{2+ i)z+ (i-2)Z - 4i=0, (herei?=~1) be normal

madmbCJHMHmdﬁ+f+1+w:[}Ew%mnmmﬁdmhﬁﬁmnMnﬂmny
Options :

70819158895, V2

1

70819158896, 2v2
3

70819158897, 22

o
|G'1| -

70819158898.

Question Number : 62 Question Id : 70819117915 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4 TRAATA (2 —i)z= 2+ )T €& 2+ i)z + (i- QT - 4i= 0, (A 2= ~1) C A
wfeEg| AW EAE iz + Z + 1+ = 0 G e T C J9q, 9E 277 I 73

Options :

70819158895, 32

I‘H

(]
<
(]

70819158896.

1“”

=]

70819158897, 2

70819158898.



e
%) |

Question Number : 63 Question Id : 70819117916 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The integer ‘K, for which the inequality x>~ 2(3k — 1)x + 8k?~ 7 > 0 is valid for every x in R,
18

Options :

=]

70819158899.

70819158900.

70819158901, %

70819158902. U

Question Number : 63 Question Id : 70819117916 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

w4 Ao K IR T 2223k~ 1)a+ 8k2 -7 > 0 wRiFeD R -9 74 g 28, O k 93 T
01w

Options :

=]

70819158899.

70819158900.

70819158901, %

70819158902. U



Question Number : 64 Question Id : 70819117917 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3 e o] o] o
m L 2n y IO = ;
5.x = 2,050 y= 3 sin"¢ and z= Y cos”"9 - sin™ ¢ then :

n=0 n=0 n=0

[fo<h, d<

Options :

70819158903, YV Z=(x 1t y)z

70819158904, ¥ 2= (xty)z

70819158905. ¥ tyz+zx=z

70819158906, V7 =4

Question Number : 64 Question Id : 70819117917 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o0 o e
- m ; 2n + :2n . .
w0 <6, d e 2, coso, y= ) sin”"¢ Riz= ) cos?"0. sin?, A :

= n=0 n=0 n=0
Options:

70819158903, XV z=(x 1 y)z

70819158904, WV 1 z=(xty)z

708191 58905. _Ilf l HZ FFX =7

70819158906, */* =4



Question Number : 65 Question Id : 70819117918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f Rolle’s theorem holds for the function I_f(x)=x3 ax?+bx ~4, x[1, 2] with f IK%J =0,
then ordered pair (a, b) is equal to:

Options :

70819158907. L

70819158908, > %)

708191589009. e

(=5 —8
70819158910.

Question Number : 65 Question Id : 70819117918 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
, i . f A4
i ST f(x) =23 - ax? + b 4, TR Gopew v A xe 1, 2] @@ f'%\ _ 0, %3
N

& TETE (a, b) 204 ¢

Options :

70819158907. g

70819158908, > &)

708191589009. L

(=5 —8
70819158910.



Question Number : 66 Question Id : 70819117919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 1\”

. s n 3
lim |14 5 is equal to :
n— n-
k. P

Options :

70819158911, 0

B3| =

70819158912.

70819158913. ©

70819158914, 1

Question Number : 66 Question Id : 70819117919 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 1\”

2
lim | 14 S — L ag e =3 ;
N —C n-

\ s

Options :

70819158911, 0

B3| =

70819158912.



o
70819158913. ©

70819158914, !

Question Number : 67 Question Id : 70819117920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of the integral

do is:

Jsinl].sin 20 (sin®0 + sin*0 + sin?0) V2sin®0 + 3sin0 + 6
1 — cos20

(where c is a constant of integration)

Options :

1 3

— [9 2sin®0 — 3sin*0 f)SiI‘izl]-‘z F ¢
70819158915, 19 ©

' 3

1

_—|t9 2c0s®0 — 3cos?o t‘y::u::uazl]-‘E t C
70819158916, 1% '

' 3
1

= 1) 18sin”0 + 9sin* 0 ?_-airn"ﬁ’l]-‘E o
70819158917, 18 © '

' 3

1

— {'l'l 18cos20 + 9cos?o 2{:::}5{’11-‘E tC
70819158918, 18 * '

Question Number : 67 Question Id : 70819117920 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



JsﬁﬂLsﬁmZﬂ(gﬁm“u - sin%0 + sin20) v2sin®0 + 3sin0 + 6

T, db &9 94 39 ;
1 - cos20
(c AAFeA F9F)
Options :
1 3
— [9 2sin®0 — 3sin*0 651112[]}2 FoC
70819158915, 18

3
— [9 Ecnsﬁl] 34:05'1!] 6c052l]-‘2 - C
70819158916, 18 :

3

— [11 18sin”0 + 9sin*0 lainﬁl]F F ¢
70819158917, 18

' 3

1

— [11 18cos20 + 9cos?o QCDSE'U—‘E F e
70819158918, 18 '

Question Number : 68 Question Id : 70819117921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
5
The value of szell de , where [t] denotes the greatest integer = t, is:

=1

Options :

70819158919, 3

1
70819158920. e

R |

70819158921, €




e +1
70819158922, e

Question Number : 68 Question Id : 70819117921 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J‘IEQII"L;]I , TRATCA [t], S5 FCA A e FA < (, ¢F T A :
=1
Options :
e+ 1
70819158919. 2

1
70819158920, -¢

'e 1

70819158921, ¢

e+ 1
70819158922, 3e

Question Number : 69 Question Id : 70819117922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If a curve passes through the origin and the slope of the tangent to it at any point (x, y) is

¥ —dxtyd B,thon this curve also passes through the point :
Xl

Options :

70819158923. k3 9)

70819158924. (> 5)



70819158925, (> %)

70819158926, (4 4)

Question Number : 69 Question Id : 70819117922 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S TN AR T T @ G () e mm Y Y8 g g
x-12

T4 fsferye fayendl o4 ;

Options :

70819158923. @, )

70819158924. 2:3)

70819158925. ® 4)

70819158926, (4 4)

Question Number : 70 Question Id : 70819117923 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The image of the point (3, 5) in the line x —y +1=0, lies on :

Options :
70819158927, (¥ 7+ (y+2)*=16

o2 e
70819158928, (X ~2)"H(y—4)7=4



. AY2 AND _
70819158929, (¥ ~4)"H(y—4)"=8

M2 G
70819158930, (¥ ~2)°+(y—2)==12

Question Number : 70 Question Id : 70819117923 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x —y+1=0 FREACEIR TCATH (3, 5) TFrpm afefam s=gm 5903
Options :

70819158927, (X~ 4+ (y +2)?=16

_ 2
70819158928, (¥ 2
70819158929, (*

. 2 5
70819158930, (* ~2)° 1+ (y—2)

Question Number : 71 Question Id : 70819117924 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tangent is drawn to the parabola i>=6x which is perpendicular to the line 2x +y=1.
Which of the following points does NOT lie on it ?

Options :

3
70819158931. s

70819158932. =&t

70819158933, (& 4)



(4, 5)
70819158934,

Question Number : 71 Question Id : 70819117924 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w4 2= 6y 97 T O3 o TEG I 27 T2 2x +y =1 AL Tofd FE ©q A5
famafer Wy tEmeE Tar TR e FE A )

Options :

3
70819158931. s

70819158932. =&t

70819158933, (& 4)

(4,3)
70819158934.

Question Number : 72 Question Id : 70819117925 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"9 9 9 9

< X 1

If the curves, & | L;— = 1 and T | ’I’E = 1 intersect each other at an angle of 90°, then
a )

which of the following relations is TRUE ?

Options :

70819158935, a tb=ctd

70819158936, @ b=c—d

c+d
b

ab =
70819158937. &




70819158938, @ ¢=b+d

Question Number : 72 Question Id : 70819117925 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘g g 3 B
- : X |
L %f.z]_iﬁE-Er {I': | T TRCE O TR I, O T T T
a K]
A 274 7
Options :

70819158935, a tb=ctd

70819158936, @ b=c—d

c+d
+ b

ab =
70819158937. &

70819158938, @ ¢=b+d

Question Number : 73 Question Id : 70819117926 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let « be the angle between the lines whose direction cosines satisfy the equations
[+m—n=0and I*+m2-n?=0. Then the value of sin*a + costa is :

Options:
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Question Number : 74 Question Id : 70819117927 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The equation of the line through the point (0, 1, 2) and perpendicular to the line

X I_yll_z 1

= i5:
2 3 2

Options:



x_Yy | 2
70819158943, 2 4 3
x _ ¥ | 2
70819158944, 3 4 3
x_ ¥ | T 2
70819158945, 3 4 3
-9 | T 2
70819158946, 3 4 3
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Options:
xX_y 1 =z 2
70819158943, 3 4 3
.0 1 _ =z 2
70819158944, 2 4 3
x _y 1. = 2
70819158945, 3 4 3
X _y 1. = 2
70819158946, 2 4 3
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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independently from the ship, then the probability that all three hit the target, is :
Options :
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Options :
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The coefficients a, b and ¢ of the quadratic equation, ax? + bx + ¢ =0 are obtained by throwing
a dice three times. The probability that this equation has equal roots is :

Options :

70819158951, 36

70819158952, 54
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Options :



70819158951, -

70819158952, 54

70819158953, 72

70819158954, 216
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All possible values of 0 £ [0, 2] for which sin 20 + tan 20 > 0 lie in :

Options:
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sin 20 + tan 20 > 025 0 @ FEE I+ 203 TIYNA 0 < [0, 27] -

Options :
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Correct Marks : 4 Wrong Marks : 1
The total number of positive integral solutions (x, v, z) such that xyz=24 is :
Options :

70819158959, 24

70819158960, 30
70819158961, 0
70819158962, *°
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Correct Marks : 4 Wrong Marks : 1
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Options:

70819158959, 24

70819158960, U

70819158961, ~©

70819158962, +°
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A man is observing, from the top of a tower, a boat speeding towards the tower from a
certain point A, with uniform speed. At that point, angle of depression of the boat with the
man’s eye is 30" (Ignore man’s height). After sailing for 20 seconds, towards the base of the
tower (which is at the level of water), the boat has reached a point B, where the angle of
depression is 45°. Then the time taken (in seconds) by the boat from B to reach the base of the
tower is :

Options :

70819158963, 10

—
70819158964, 10(¥3 + 1)

70819158965, 103

70819158966, 10V3 ~ 1)
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Options :
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70819158966, 10(v3 — 1)
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The statement A — (B — A) is equivalent to :

Options :

70819158967, * — (A — B)

70819158968, * — (A v B)

70819158969, * — (A A B)

70819158970, * 7 (A < B)
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Correct Marks : 4 Wrong Marks : 1
s, A - (B— A), T@ :
Options :

70819158967, * — (A — B)

70819158968, 2+ — (A v B)

70819158969, 4+ —7 (A A B)

70819158970, ©* 7 (A < B)
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Let A= (|, where x, y and z are real numbers such that x+y+z > 0 and xyz=2.
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If the system of equations
kx+y+2z=
Ix—y—2z=2

2x — 2y —4z =2

has infinitely many solutions, then k is equal to _
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The total number of numbers, lying between 100 and 1000 that can be formed with the digits
1,2,3,4,5,if the repetition of digits is not allowed and numbers are divisible by either 3 or 5,
15

Response Type : Numeric
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Let Al, Az, AB, ... be squares such that for each n=1, the length of the side of A" equals the
length of diagonal of AM I If the length of Al is 12 ¢m, then the smallest value of n for
which area of A is less thanone,is .
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The number of points, at which the function f(x)=|2x+1)~3x + 2|4 “+x-2,xeRis
not differentiable, is
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Let f(x) be a polynomial of degree 6 in x, in which the coefficient of x° is unity and it has

i ')
extrema at x=—-1and x=1 If lim fi =1,then5-f(2)isequalto .
—0 y
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The graphs of sine and cosine functions, intersect each other at a number of points and
between two consecutive points of intersection, the two graphs enclose the same area A.
Then A'isequalto
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The locus of the point of intersection of the lines (V3 )kx 4 ki 43 =0 and

ﬁ xX—y 4( \ﬁ ) k =0 is a conic, whose ecoentnicity 18
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Let a=i+2j-k b=i-jand ¢ =i~ j— k be three given vectors. If r isa
— - - — -5 3 - =

vector such thatr x a = ¢ x aandr- b =0, then r- a isequalto ________.
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